¢ VRIS D




1=

M1

48 &PDF

scipy 2= scipy.stats.2Zgt+H

import scipy.stats as st

scipy.stats. EZet+H rvs(2=, size=)
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o[t #UR Z(discrete uniform) randint(low=, high=)

(low, high-1) Al0|Q] B0 FUE

=, p=) - B HIZF0|(H3EE p) Al &

F F_l(x)

scipy.stats. = Z &+ stats(arg, ,24, moments=‘arg?’)

e arg2:m,V, s, k
« stats CH&l mean, median, var, std A2 7ts
- interval(alpha, arg, 2%°) : H22|(alpha %) +H HE2| gt

=3

scipy.stats. 22t~ fit(data)

S0|&HE2 X (negative binomial) nbinom(n=, p= ) - d3&E pQl HIZE
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Z7 |52 % (hyper-geometric) hypergeom(M= , n=, N=) ZHA|7} 2%
(M, A= FdE BEEN(S 7hAles M, 8370He n)2LERE N7|
|.

M—n ; 7 Nn
 k=0,12,...,min(N,n), = —
N-k M

T UEIZ uniform(loc=, scale=)

,loc < x <loc+scale

f@) =

scale

HMAEXE norm(loc=, scale=)
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,—00 < x < oo =y, 2tto

ZOH2E gamma(a(k)=, scale( 6 )=)

! okl
oo = L (k)6 0<x A< ko, 24 k62
QIO|ERE

exponweib.pdf(x, a, c)=a * ¢ * (1-exp(-x**c))**(a-1) * exp(-x**c)*x**(c-1)

k—1 qa—1 X
flaskae) = ak [2]"7H 1 e tem] " et

in Python Atz

ZOHEE(a =2, = 0.5) 50071 CI|O|E{ A4A

from scipy.stats import gamma
a=2,s=05
y=gamma.rvs(a=a,scale=s, size=500) #Gamma(2 0.5) size=500

data y; ~ Gamma(a =2, # =0.5),i=1,2,..,500

LiA MAME| GO|E] 7| X EH 2

—

st.describe(y) #elelmentary statistics

DescribeResult(nobs=1000, minmax=(0.013393060445211555, 4.4837821476271404), mean=1.02
8986889010037, variance=0.49501838881339916, skewness=1.1960879646017015, kurtosis=1.74
43735928218542)

N zESAE MY H EH

n, rgn, m, var, sk, kur = st.describe(y)
print('min= %10.4f, mean= %10.4f, varince=%10.4f" % (rgn[0], mean, var))

min=  0.0171, mean= 1.0000, varince= 0.5140



ZOMRE(q = 2,4 = 0.5) BRICH E72F 32517|

(‘d4) Cllo|E] 2ot Ha 51|

n, rgn, m, var, sk, kur = st.describe(y)
print('min= %10.4f, mean= %10.4f, varince=%10.4f % (rgn[0], mean, var))

min=  0.0171, mean= 1.0000, varince= 0.5140

mean, var, skew, kurt = st.gamma.stats(a=a,scale=s, moments="mvsk’)
print(mean, var)

1.0 0.5

st.gamma.moment(n=2, a=a,scale=s) #2nd Moment

1.5

st.gamma.moment(n=1, a=a,scale=s) #Ind Moment

1.0

b

DR HOoE 2 7| =SAZ 75171,

Gamma(a = 2,6 = 0.5) 22| 32|4=0.7, EEMXI= 4/0.5140|C},

st.gamma.median(a=a,scale=s)

0.8391734950083306

st.gamma.std(a=a,scale=s)

0.7071067811865476

Gamma(a =2, f = 0.5)25E MAE GO[ES A0HSEE40| MEtAH 24
£ 3y5te 1.882(2RTHS 20|0h), 0.536(2EEHS 0.501%S)0]
0|22 BETte| PAots SUSHA| OITh Ofnf O[3 L4 MM D515 510 B

= 5 2, 0.50] 2AF Zdo]ct.

3, loc, scale=st.gamma.fit(y)
print(‘alpha(shape)= %6.3f, scale= %6.3f, ' % (a, scale))

alpha(shape)= 1.882, scale= 0.536,
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import matplotlib.pyplot as plt
import numpy as np
fig, ax = plt.subplots(], 1)

x = np.linspace(gamma.ppf(0.001,a=a,scale=s), gamma.ppf(0.999,a=a,scale=s), 100)

ax.set_title('Population PDF & Histigram of Generating data’)

ax.plot(x, gamma.pdf(x,a=a,scale=s), 'r--', Iw=2, alpha=0.6, label='"Gamma pdf(‘+str(a)+', "+str(s)+)")
ax.plot(x, gamma.pdf(x,a=0.8*a,scale=s), 'b--', lw=2, alpha=0.6, label='"Gamma pdf('+str(0.8*a)+', "+str(s)+')’)
ax.plot(x, gamma.pdf(x,a=1.2*a,scale=s), 'k--', Iw=2, alpha=0.6, label="Gamma pdf('+str(0.8*a)+', "+str(s)+')")

ax.hist(y, density=True, histtype='stepfilled’, alpha=0.2)
ax.legend(loc='best’, frameon=False)
plt.show()



Population PDF & Histigram of Generating data

I’\ -~ = (Gamma pdf(2, 0.5)
B 1\ ~ = Gamma pdf(1.6, 0.5)
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Python Code [copy & paste]

import scipy.stats as st

import numpy as np

a=25=05

y=st.gamma.rvs(a=a,scale=s, size=500) #Gamma(2,0.5) size=500

st.describe(y) #elelmentary statistics

n, rgn, m, var, sk, kur = st.describe(y)
print('min= %10.4f, mean= %10.4f, varince=%10.4f" % (rgn[0], mean,

var))

mean, var, skew, kurt = st.gamma.stats(a=a,scale=s, moments='mvsk’)
print(mean, var)

st.gamma.moment(n=2, a=a,scale=s) #2nd Moment

st.gamma.moment(n=1, a=a,scale=s) #1nd Moment

st.gamma.median(a=a,scale=s)
st.gamma.std(a=a,scale=s)

a, loc, scale=st.gamma.fit(y)
print(‘alpha(shape)= %6.3f, scale= %6.3f, ' % (a, scale))

import matplotlib.pyplot as plt
import numpy as np
fig, ax = plt.subplots(1, 1)

x = np.linspace(gamma.ppf(0.001,a=a,scale=s),
gamma.ppf(0.999,a=a,scale=s), 100)

ax.set_title('Population PDF & Histigram of Generating data')
ax.plot(x, gamma.pdf(x,a=a,scale=s), 'r--', lw=2, alpha=0.6,
label="Gamma pdf('+str(a)+', ‘+str(s)+')’)

ax.plot(x, gamma.pdf(x,a=0.8"a,scale=s), 'b--', lw=2, alpha=0.6,
label="Gamma pdf('+str(0.8*a)+', '+str(s)+')’)

ax.plot(x, gamma.pdf(x,a=1.2*a,scale=s), 'k--', lw=2, alpha=0.6,
label="Gamma pdf('+str(0.8*a)+", '+str(s)+')')

ax.hist(y, density=True, histtype="stepfilled’, alpha=0.2)
ax.legend(loc="best’, frameon=False)
plt.show()

plt.subplots(1, 1)
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dtxt[0:40] #40 strings form p=0 to pOsition 39

\ufeffEf=0f| SHLIEHO| MAIE FESHALIZNnE 0| EE5H 3355t E0| ZE

HAE (LIE) Blo|E 22(97]

THof B L0 ME

- split() gf==0l| 2fofl S22 2|0 2[AE A2 MEEIC

- & 473,69671 017t Tt O & 20702 Y& K& SIALCE.

2|X| : Home Foldero] 2

Fioe | Running ~ Clustors word=dtxt.split() #split str by blank into list type
Select items to perform actions on them. tyDE(WOI'd)
0 |- . list

& read_txt.ipynb

- Dovnloads len(word) # size of list
(3 7Hei7H xt
(O Applications (Parallels) 473696
ShA
Sbenl e r word_sub=word[0:20] # subset of list word from O to 19
s BN EGEFLola word_sub
+ BHEA] 912 S H|0|EIE close® XS HSIC, [.;‘;[‘:[f,f)“f‘”"
o ]
- 22 HO|EE ‘str’ 42 MEEICE HX| S
"BERSIAIL2F,
txt=open('ZHA71A. txt’, 'rt") EOEQ .
dtxt=txt.read() #read file into str type 5513:317
txt.close() #close /74 txt’ ':%gl' ;

print(type(dtxt), len(dtxt))

<class 'str'> 1836672




& 3517| count()

=d(\n) B2 L0 XMZst|

- 2|AE ®A[0f| CHSE0] count()gh AFESHH * otof] - El Tt UX|SH= T
0 7i~E ST --> word_sub 2|AE 2| Rl= 2071 gA(EHo]) & ‘St
ot UX|Sh= Cof(zh)e gleBZ o, ‘SHFE o Etoj= 2710|Ct,

. OFOF 2|AE OO JHH|E JHHMOZ LIFM 1 gt QtoflA * otof| MH =l THo
7t Ao™ FIRE EIC} --> k in word_sub = 2|AE Qto| J& ZH(THo]) T}
X2 kofl CHA|=|2 T k2t SiLbE: B2} I FHR E EICH

len(word_sub) # size of subset list

20

word_sub.count('SHLHE")  #exact word

0

word_sub.count('SH-I=0])  #exact word

2

num=0

for k in word_sub: #by individual
num=num + k.count('St-}=")

num

3

num=0

for k in word_sub: #by individual
num=num + k.count('0[")

num

word_sub

["\ufeffEf{=0[",

‘SiLKEO],
HAS,

HZSIAILIEF,

o,
BEST,
2313401,
‘Sl
'z k=1 0
9o
IA-L ’
SfLbeel,
%2
SR,

flof,

2SHAILIEY,

"SHLHEOI,
‘0|2 A%,
2O,
‘ALet]
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tline=dtxt.splitlines()
type(tline)

list

tline[0:3] #0~2nd lines

[\ufeffe &l SHH=O| #X|S &z
©o| &

tline.count('stLt'=l")
0

num=0

for k in tline[0:3]:

num=num + k.count('St-t=")
num

3

#split by lines
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EIAE (url) GIO|E| 2227 csv H|O|E =2{27|

« ot= url AIO|E O|0|H E22|QE 4 AEUA =4 SASH|E HelCh(EF) http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.c
sv [Of|A| H|O[E]]

sh= THE WX|E QI8 M : encoding='ms949' ({28 H|0|E{2| AL

import urllib.request

url="http://203.247.53.31/Big_Data/data/%EA%B0%9C%EC%97%AD%EA ;

request = urllib.request.Request(url) 0| ZMS ALESIHX| 220tE EICt)
response = urllib.request.urlopen(request)

dtxt=response.read().decode('utf-8) import pandas as pd

filename="http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csV'
ds=pd.read_csv(filename, encoding='"ms949’)

type(dtxt)
str ds.head(3)
word=dtxt.split() city Mortality JanTemp JulyTemp RelHum Rain Education
(N l_ll
word.count('sfL'=") 0  Akron,OH  921.87 27 71 59 36 11.4
998 Albany-
1 Schenectady- 997.87 23 72 57 35 11.0

num=0 .
for k in word: ds.info()

num=num+k.count('stLt=l") . .

; <class 'pandas.core.frame.DataFrame'>

int("SHLIE! AFR HIS = {- D041
print("stLHE! AFR H|E = {:.2%}".format(num/len(word))) Rangelndex: 60 entries, O to 59
= Data columns (total 15 columns):

L= AF H|E = 0.889 . .
St A Bl % city 60 non-null object

Mortalitv 60 non-null float64

ds.columns

Index([‘city’, 'Mortality’, 'JanTemp’, JulyTemp’, ‘RelHum’, 'Rain’,
‘Education’, 'PopDensity’, 'NonWhite’, ‘WC', ‘pop/house’, ‘income’,
'HCPot', 'NOxPot', 'SO2Pot'],
dtype="object’)



http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv
http://wolfpack.hnu.ac.kr/Stat_Notes/adv_stat/LinearModel/data/SMSA.csv

excel C[O|EH 22{27|

SAS data E2{27|

http://203.247.53.31/Stat_Notes/example data/LPGA 2008.xls

ImportError: Install xIrd >=1.0.0 for Excel support

0|21 QEIILIRL AL xIrd 252 Ax|7} 2 o . EHEEUB SIS

ds.columns

Index(['city’, ‘Mortality’, 'JanTemp', ‘JulyTemp’, 'RelHum’, 'Rain’,
'‘Education’, ‘PopDensity’, ‘"NonWhite', ‘WC', 'pop/house’, ‘income’,
'HCPot', 'NOxPot', 'SO2Pot'],
dtype="object’)

import pandas as pd
filename="http://203.247.53.31/Stat_Notes/example_data/LPGA_2008.xIs’
ds_excel=pd.read_excel(filename, encoding="ms949")

ds_excel.columns

Index(['Player’, ‘Driver_Dist’, ‘Fairway_pcnt’, ‘Green_Regulation’, 'Avg_Putt’,
'Sand_num’, ‘Sand_saves', ‘Money_round’, ‘Total_round’, ‘'Total_money],
dtype="object’)

ds_excel[0:3]

Player Driver_Dist Fairway_pcnt Green_Regulation Avg Putt Sand_num Sand_saves Money round Total_round Tota

http://203.247.53.31/Stat_Notes/example data/cars.sas7bdat

SAS= url g@4lo

import pandas as pd

from sas7bdat import *

foo = SAS7BDAT('cars.sas7bdat’, encoding="ms949")
ds_sas = foo.to_data_frame()

ds_sas.info()

<class 'pandas.core.frame.DataFrame’>
Rangelndex: 428 entries, O to 427
Data columns (total 15 columns):

Make 428 non-null object
Model 428 non-null obiect

ds_sas.head(3)

2l Ofl CH2 = Home ZC{01| X&5H0] €

QL 3y

Make Model Type Origin DriveTrain MSRP Invoice EngineSize Cylinders Horsepower MPG_City

Ochoa,

e 269.3 66.4 71.6 28.31 0.94 50.0 40635 68

0

Creamer,

246.3 73.6 70.5 28.38 0.58 471 20727 88
Paula

1

Teann

0 Acura MDX  SUV  Asia All 36945.0 33337.0

RSX
1 Acura Type S Sedan Asia
2dr

Front 23820.0 21761.0

2 Acura TSX4dr Sedan Asia Front 26990.0 24647.0

3.5 6.0 265.0 17.0
2.0 4.0 200.0 24.0
24 4.0 200.0 22.0


http://203.247.53.31/Stat_Notes/example_data/LPGA_2008.xls
http://203.247.53.31/Stat_Notes/example_data/LPGA_2008.xls
http://203.247.53.31/Stat_Notes/example_data/cars.sas7bdat
http://203.247.53.31/Stat_Notes/example_data/cars.sas7bdat

H|O|E M&E S| excel It o&t

csv Al HE ModuleNotFoundError: No module named "xlwt' o= utaio| Lo
import pandas as pd pip3 install xlwtj=ESFSPyg=ile]

ds_sas.to_csv('=ZH|0|E{.csv', encoding='ms949’)
import pandas as pd
ds_sas.to_excel('==|0|E].xIs’, encoding="ms949")

Make Model Type Origin DriveTrain MSRP Invoice

0 Acura MDX Suv Asia Al 36945 33337 L o AESYO -+ B Bz60lE s - sy Bs
1 Acura RSX Type S 2(Sedan Asia Front 23820 21761 a9 1271 Holx| ool 44 dolg HE E7|

2 Acura TSX 4dr Sedan Asia Front 26990 24647 T r

Q Acriira Tl Adr Cedan Acia Frant 221098 2N299 D i [D ~ At

H'd7|

« A0 pandas H|0[E{Z2{| 2] index 10| &5t/

Make I Model Type Origin DriveTrain MSRP Invoice
. 0 Acura MDX Suv Asia All 36945 33337
Import pandas ai Dd ) ) 1 Acura RSX Type S 2 Sedan Asia Front 23820 21761
ds_sas.to_csv('ZC|0|E.csv', index = False, encoding='"ms949’) 2 |Acura TSX4dr  Sedan Asia Front 26990 24647
3 Acura TL 4dr Sedan Asia Front 33195 30299

Make -Model Type Origin DriveTrain ~ MSRP Invoice EngineSize
Acura MDX N WY Asia All 36945 33337 3.5
Acura RSX Type S 2 Sedan Asia Front 23820 21761 2

Acura TSX 4dr Sedan Asia Front 26990 24647 2.4




